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ECONOMICS
( Honours Core )

Paper : ECO-HC-3016

( Intermediate Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Sfull marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o e T fia

fa) What is cardinal utility?
MRS Sefcfaret & 2

(b) State one assumption of utility analysis.

ool Rosmem @b ge e |
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(2)

What is production function?

T 1 6 2

Define income effect.

1y [ sige i |

What is marginal rate of substitution?

afoPs 2fes 27 Iferce & @0

What is the shape of indifference curve in
case of perfect substitutes?

9f Res AR cPqe faeers QIR wighe
R T ?

Define expansion path.

R 2/ AT |

What is meant by inter-temporal choice?

SR Eare =W qe & o 2

Define opportunity cost.
el e i i |

State the concept of ‘shut-down point’ of
a firm.

<1 AfSBeE T Ry qmenchy Sras
1 |

( Continued )

(3)

2. Write short answers of the following
questions : 2x5=10

o] 2CAd B S fiud

(a) What is meant by budget space or set?

6 T M KRS Jfeee 5 @2

(b) Distinguish between gross demand and
net demand.

75 BIfEw S m BIRAE e A [T w4

(c) State the two conditions of consumer’s
equilibrium wunder indifference curve

approach.
fiFers @ RerTe (SeR SPHEN 58 10
ey 90 |

(d) Distinguish between explicit cost and
implicit cost.

AT A S ST IR AR oS o7 |

(e) State the concept of optimum firm.
1 2SO qraeeh! ey T4 |
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3. Answer the following questions (any four) :
5x4=20

O IR T i (R cpreen wifm) -

(@) With the help of indifference curves,

distinguish between normal goods and
inferior goods.

Frere @ s Toifte ol e gt
AR T =Ny ey =0 |

(b) iExplain the concepts risk averter, risk
over and risk neutral individuals.

R ST, A ST W e e

(C} Brieﬂy e 1
xplain th
el € concept of returns

%QWWWWWB{E@WWI

(d) Bri
) pzlrt;ﬂy state the characteristics Of
ectly competitive market.

M eRoctirorre semes tapizpmz vxte e

fe)

EXDI 4
ai .
N how a consumer can reduce risk-

Soe
W: ¢ EQS‘IWW °|¥CQ,W'§HW|
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4. Answer the following questions :

(S)

Derive average fixed cost curve from total
fixed cost curve.

P 9 @R A o F A @SR
91 | }

o 2PIRIAd TR

(a)

(b)
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Define indifference curve. Explain their
properties.
s QAR I o | R GIMERTR T
41|

Or / =gl

Critically discuss the law of variable
proportion.

ofigéae  wee R STHREAGTTSIC

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines.

R IR A [ 7 TV A1 e

FI-I @R TS A PAST TR T
e 11 28, el 91

10x4=40

2+8=10

10

10
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(c)

(d)
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(6)

Or / 7

Explain inter-temporal choice of a
consumer with the help of a diagram. 10
SACEIEN (SR S@eTHTS 277 RAcd foad
KISIEIET T

Explain short-run equilibrium of a firm
under perfect competition. 10

A aferfrore 3 b Zxere o
ST =TS $C, I <647 |

or /

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10
F-TBeofe (41 57 S-S (@@ e
G, HCARAE HE FIRPH ST T
i cryaa |

Define  substitution effect. Explain
Slutlsky substitution effect with the help
of diagram. 2+8=10

Aown Rome e fin 1w afoes R
o a1 e <oy

( Continued )
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Or / agd

Explain the concepts of total fixed cost,
total variable cost and total cost. How are

they related to each other? Explain.
2+2+2+4=10

5 87 T, 3B ARGETN TN € T T AT
QT I | PR IR TR A1)
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